H244F E GHIEF R 2 K) HEFF R &

HEfE 48198 | 58178 | 68148 | 78198 | 88208 | 98208 | 108188 | 11A158 | 128138 | 18178 | 28258 | 3A148
BS |eMRERE |RERE (/L Tem] 138 20.9 18.8 325 315 28.1 18.5 15.2 6.0 5.0 5.6 6.1
L 5\ BT 16.9 17.8 24.5 25.2 25.2 23.0 16.1 12.1 9.0 8.6 1.7
£ 1| —mEE 18/ 8 10018/ ml 1 1 0 2 3 0 1 1 0 1 0 1
Z 2| K& 1[E/8 T T | Tl | FRE | Tl | Tl | TR | Tl | Tl | FRE | Tl | Tl | TRE
£ o} IpRUEP i@ 0003 0.00035% %
=
# 4 ﬁfz&zj%oﬂt 1El/3A 0.0005 0.000055k %
=
# 52;’%&(}%@“: 1E/38 0.01 0,001k
=
£ 6 f;&u’%o){tg 1E/38 0.01 0,001k
# 7 ﬁfzﬁ%m{t 1E/38 0.01 0,001k
=
# s,@ﬁqutg 1E/38 0.05 0,001k
# 93’?&"@3’& 1E/38 0.01 0,001k 0,001k 0,001k 0.0015k %
#10 g%ﬁ;ﬁﬁ;gu 1E/38 10 12 1.1 1.8 1.6
#1 Qimj%mt 1E/38 08 0.055k %
=
#12 Tgizzu‘%w 1E/38 1.0 0.016
=
H 13| migbikE 1[/38 0.002 0.0001 K%
#14]14-OA XY [1E/38 0.05 0.0055 %
=B (e detad M=V 0.04 0.000153%
Hie|oyooxay  |[1E/3A 0.02 0.00015k %
& 17|7h59A01FLy  |1[E/3A 0.01 0.0001K 5%
#18 ;'”DDI*" 1E/38 0.01 00001535
H19|RU B 1[E/38 0.01 0.0001 K%
H 20[IEHRE 1[E/38 0.6 0.09 0.11 0.06 0.06K 5
£ 22| yooEEg 1E/38 0.02 0.001k % 0.001k % 0.001k % 0.001k %
£ 23|yooks [1E/3A 0.06 0.0009 0.0018 0.0011 0.0009
#24|CyooEei  |[1E/3A8 0.04 0.001k % 0.001 0.001 0.001k %
# 25| 7 0eyonxy |1E/3A 0.1 0.0003 0.0002 0.0001 0.0001
H 26| RHKE 1[E/38 0.01 0.001% i# 0.001% i# 0.001% i# 0.001 5K 7%
£ 27l#ry /o 2% [1E/38 0.1 0.0020 0.0030 0.0018 0.0015
£ 28|ryoooE® |1E/38 0.2 0.001k % 0.001k % 0.001k % 0.001k %
# 29]7'0Ey ynosgy [1E/3A 0.03 0.0008 0.0010 0.0006 0.0005
£ 30|JoEHRLL |1E/3A 0.09 0.00015k % 0.00015k % 0.00015k % 0.00015k %
# 31|fnLa7nrer [1E/3A 0.08 0.001Ki# 0.001Ki# 0.001 0.001Ki#
#32 Eif;&u%o)ﬂ: 1E/38 1.0 0,001k
=
#33 Z;L{T::Z;‘M&U% 18/3A 0.2 0.008
=
# 34 ?Z&u’%o)ﬂ:e 1E/38 03 0,015k 0,015k 0,015k 0,015k
#35 f;]&u’%o)ﬂ:g 1E/38 1.0 0.002 0.0015k % 0.001 0.001
# 36 EZ’Q&U%Q 1E/38 200 43
=
# 37 }fgi’;m&zj%w 1E/38 0.05 0.0015k %
=
# 38|iEim 4y 1E/8 200 29 29 29 26 2.8 3.0 29 2.8 2.7 2.7 2.8 2.7
hYILRT R
# 39 L () 1E/38 300 46 49 49 45
H 40| RREBREY 1[/38 500 76 96 87 91
e E]”’ﬁﬁ%ﬁ 1E/38 02 0025k
B ¥V D2 & W 3 fg%ﬁi 0.00001 0.0000013% %
| E\Ei;ﬁﬁ
#43 fl:;:’;’i')fbj w fgﬁ;ﬂ 0.00001 0000001 3%
I3
# 44 ;ﬁ”’ REEE 1E/38 0.02 0.0055 %
# 45|07z /—L 58 1[E/38 0.005 0.00055 %
# 46| kETOC)D |1E/A 3 0.2 0.2 03 0.2 0.2 0.2 0.4 03 0.2 03 0.2 05
=)
£ 47|pHiE 18/ 8 58~86 7.7 7.7 7.7 7.8 7.8 7.1 7.6 7.6 7.7 7.6 7.6 7.7
H a8|mk 13/ ERco | 2xg | Bxg | BEeg | 2xg | 2xg | 2xg | 2xe | B2eg | 23 | 2v | 258 | 258
YT S 1E/8 ERco | 2xm | Bxg | BEeg | 2xg | 2xg | 2xg | Bxe | B2eg | 23 | 2v | 258 | 258
# 50| 1E/8 5 1R 1R 1R 1R 1R 1R 1R 1R 1R 1R 1R 1R
H51|BE 1El/8 2 015K | 0.1k | 0k | o1k | 0.1k | 0k | 01k | 0.1k | 01KE | 01K | 0.1KE | 01K
ERIE 1E/8
8 2|3y 1[E/H
& 3 /:ﬂ%vnzaa,w 1E/8
BRiER 0.1mg/ILLE 0.4 0.5 0.4 0.3 0.4 0.5 0.4 0.5 0.5 0.6 0.6 0.5




H24E & (R RFK) FRARE(SELTSH)

HtE(E 48198 | 58178 | 68148 | 78198 | 88208 | 98208 | 108188 | 11A158 | 128138 | 18178 | 28148 | 38148
BS |eMRERE |RERE (f"g/ L [g&E] 1715 24.9 20.9 38.0 38.0 33.0 19.9 17.1 10.5 9.1 5.9 7.1
AT TaEl 4s 17.2 175 24.3 24.9 24.2 21.2 160 10.8 8.5 9.4 12.8
2 1| —mEE 18/ 8 10018/ ml 0 0 0 0 0 0 0 0 0 3 0 0
# 2| KBE 1E/8 T T | Tl | FRE | Sl | Tl | FRE | Tl | Tl | FRE | Ted | Tl | TR
# 3| ILRUTD) G 5 0.003 000035 %
L&y
# 4 ﬁfz&zj%oﬂt 1El/3A 0.0005 0.000055k %
=
# 52’%&(}%0)“: 1@/3A8 0.01 0.0015K#
=
# 6 f;mj%m':g 1@/3A8 0.01 0.001#
# 7 f‘;@&z}%@ﬂ: 1E/38 0.01 0.001K#
=
# s,@ﬁﬁ’mL‘“‘g 1E/38 0.05 0.001K#
VIAEMV R - . p E
# 9 Giaibry 1E/38 0.01 0,001k 0.0015k % 0.0015k % 0,001k
HBEZERRY
#10 it 1E/38 10 12 0.87 12 1.3
#1 1"’?&&”%0)“: 1E/38 0.8 0.05
I:I#m
#12 ’T"jf*&um 1E/38 1.0 0.020
L&y
H 13| migbikE 1[8/38 0.002 0.0001 K%
#14]14-OA XY [1E/38 0.05 0.005% i#
YA1,2Y"9RIFLY R U =
215|700 1f2;/,7ulul;b) 1E/38 0.04 0.00015k3%
Hie|oyooxay  |[1E/3A 0.02 0.00015k %
H 17|7h59A01FLy  |1[E/3A 0.01 0.0001K 5%
#18 ;'”DDI*" 1E/38 0.01 00001535
H19|RU B 1[E1/38 0.01 0.0001 K%
H 20[IEHRE 1[E/38 0.6 0.06K i 0.08 0.07 0.06K 5
H 2|yooE 1E/38 0.02 0.001k % 0.001k % 0.001k % 0.001k %
# 23|yookvs |1E/BA 0.06 0.0008 0.0007 0.0006 0.0004
#24|osooEE  |[1E/3A8 0.04 0.001k % 0.001k % 0.001k % 0.001k %
# 25| 7 neyonxy |1E/3A 0.1 0.0009 0.0010 0.0009 0.0007
H 26| RHKE 1[E/38 0.01 0.001% i# 0.001% i# 0.001% i# 0.001 5K 7%
£ 27l#ry /o 2% [1E/38 0.1 0.0029 0.0028 0.0026 0.0019
£ 28|ryoooE® |1E/38 0.2 0.001k % 0.001k % 0.001k % 0.001k %
# 29]7'0Ey ynosgy [1E/3A 0.03 0.0011 0.0009 0.0009 0.0007
#30[JoEHkLL |1E/BA 0.09 0.0001 0.0002 0.0002 0.0001
# 31|k La7nrer  [1E/3A 0.08 0.001Ki# 0.001 0.001Ki# 0.001Ki#
#32 Eﬁfu\&u%o)ﬂ: 1E/38 1.0 0.005
I:I#m
TLIZHLRUZE
#33 Do 1E/38 0.2 0.002
# 34 ?Z&u%o)ﬂ:e 1E/38 0.3 0.02 0.01 0.01 0.01
#35 f;]&u’%o)ﬂ:g 1E/38 1.0 0.006 0.004 0.005 0.003
THIARUZD
# 36 o 1@/3A8 200 5.2
# 37 7’2’&0%‘” 1E/38 0.05 0.0015K#
L&y
# 38liEim 4y 1E/8 200 3.0 3.2 3.0 2.8 2.7 2.8 2.8 3.1 3.0 2.8 3.2 29
HhYILRT R
# 39 L () 1@/3A8 300 80 62 65 60
H 40| RREBREY 1[E1/38 500 111 108 100 95
4 E]”’ﬁﬁ%& 1E/38 0.2 0,025k %
o . BRE ;
e R e R [ 0.00001 0000001 5k3%
'R iEEJ
2-AFIAVR |$BRE .
H 43 ARt —L s 0.00001 0.0000015 %
BiEL
®a4 ;ﬁ”’ FREEE | 535 002 00055k
# 45|07z /—L 58 1[E/38 0.005 0.00055 %
T G A L
# 46| kETOC)D |1E/A 3 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2
=)
£ 47|pHiE 18/ 8 58~86 7.3 75 7.3 75 7.4 75 7.2 7.3 7.4 7.4 7.4 7.3
H a8|mk 13/ ERcn | 2xg | 2xg | BEeg | 2xg | 2xe | 2xg | 2xe | B2eg | 23 | 2v | 258 | 258
EYTEES 13/ ERcn | 2xg | Bxg | BEeg | 2xg | 2xg | 2xg | Bxg | B2eg | 23 | 2v | 258 | 258
# 50| 1E/8 5 1R 1R 1R 1R 1R 1R 1R 1R 1R 1R 1R 1R
H51|BE 1El/8 2 015K | 0.1k | 0k | o1k | 0.1k | 01k | 01k | 0.1k | 04KE | 01K | 0.1KE | 01K
ElIE 1E/8
5 2|&Y 1E/8
& 3 /:ﬂ%vnzaa,w 1E/8
BEE%R 0.1mg/ILLE 0.4 0.4 0.4 0.4 0.2 0.4 0.4 0.5 0.4 0.5 0.6 0.5




H24EE (FE%REK) B =Kt

HtE(E 48198 | 58178 | 68148 | 78198 | 88208 | 98208 | 108188 | 11A158 | 128138 | 18178 | 28148 | 38148
BS |eMRERE |RERE (/L Tl 180 21.2 20.9 36.0 34.2 32.1 19.2 11.1 7.8 6.1 4.9 6.8
Sl 5 IR 15.2 15.2 20.0 20.8 224 19.2 16.9 11.9 13.9 11.1 13.9
2 1| —mEE 18/ 8 10018/ ml 0 0 0 0 1 0 1 0 0 1 0 0
# 2| KBE 1E/8 T T | Tl | FRE | Sl | Tl | FRE | Tl | Tl | FRE | Ted | Tl | TR
ANIARUVED
# 3 1E/38 0.003 0.00035% %
L&y
# 4 ﬁfz&zj%oﬂt 1El/3A 0.0005 0.000055k %
=
# 52;’%&(}%@“: 1E/38 0.01 0,001k
=
# 6 %“\&U%m'ﬁ 1E/38 0.01 0,001k
# 7 E‘;@&U%o)ﬂ: 1E/38 0.01 0,001k
=
# s@ﬁMDMtg 1E/38 0.05 0,001k
# 93’%‘&5@3’& 1E/38 0.01 0,001k 0.0015k % 0.0015k % 0,001k
#10 %Eﬁgi;gu 1E/38 10 12 0.62 0.73 0.94
#1 Qimj%mt 1E/38 08 0.055k %
=
#12 T;izzu‘%w 1E/38 1.0 0.012
H 13| migbikE 1[8/38 0.002 0.0001 K%
#14]14-OA XY [1E/38 0.05 0.0055 %
=B [k detad M=V 0.04 000015 3%
Hie|oyooxay  |[1E/3A 0.02 0.00015k %
H 17|7h59A01FLy  |1[E/3A 0.01 0.0001K 5%
#18 ;'”DDI*" 18/38 001 0000153
H19|RU B 1[E1/38 0.01 0.0001 K%
H 20[IEHRE 1[E/38 0.6 0.06K i 0.17 0.06K i 0.06K 5
H 2|yooE 1E/38 0.02 0.001k % 0.001k % 0.001k % 0.001k %
# 23|yookvs |1E/BA 0.06 0.0003 0.0003 0.0004 0.0002
#24|osooEE  |[1E/3A8 0.04 0.001k % 0.001k % 0.001k % 0.001k %
# 25|v'7nesnosgy [1E/3A 0.1 0.0005 0.0005 0.0005 0.0004
H 26| RHKE 1[E/38 0.01 0.001% i# 0.001% i# 0.001% i# 0.001 5K 7%
£ 27l#ry /o 2% [1E/38 0.1 0.0014 0.0014 0.0015 0.0010
£ 28|ryoooE® |1E/38 0.2 0.001k % 0.001k % 0.001k % 0.001k %
# 29]7'0Ey ynosgy [1E/3A 0.03 0.0005 0.0005 0.0005 0.0004
#30[JoEHkLL |1E/BA 0.09 0.0001 0.0001 0.0001 0.0001 5%
# 31|k La7nrer  [1E/3A 0.08 0.001Ki# 0.001Ki# 0.001Ki# 0.001Ki#
#32 E§2&U%®1t 1E/38 1.0 0.008
=
#33 Z;L{T::g;‘fuz‘ 18/3A 0.2 0.001
# 34 ?Z&U%‘D“:g 1E/38 0.3 0,015k 0,015k 0,015k 0,015k
#35 f;l&u’%o)ﬂ:e 1E/38 1.0 0.026 0.009 0.065 0.010
# 36 EQQ&U%W 1E/38 200 48
# 37 }gdg;m&u'%w 1E/38 0.05 0.0015k %
# 38liEim 4y 1E/8 200 2.7 3.0 2.8 25 2.3 24 26 2.7 2.7 2.7 29 26
HhYILRT R
# 39 L () 1E/38 300 61 52 55 47
H 40| RREBREY 1[8/38 500 88 96 89 87
e E]”’ﬁﬁ%ﬁ 1E/38 02 0025k
B ¥ V] D2 & o 3 ﬁzf 0.00001 0.0000013% %
L
R AR
2-AFIAVR |$BRE .
H 43 ARt —L s 0.00001 0.0000015 %
BiEL
# 44 ;ﬁ”’ REEE 1E/38 0.02 0.0055 %
# 45|07z /—L 58 1[E/38 0.005 0.00055 %
# 46|i&\TOC)D |1E/A 3 0.1 0.2 0.2 0.2 0.2 0.1 0.2 0.2 0.2 0.2 0.2 0.2
=)
£ 47|pHiE 18/ 8 58~86 7.2 7.6 7.2 7.4 7.2 7.2 7.1 7.1 7.2 7.2 7.2 7.2
H a8|mk 13/ ERcn | 2xg | 2xg | BEeg | 2xg | 2xe | 2xg | 2xe | B2eg | 23 | 2v | 258 | 258
EYTEES 13/ ERcn | 2xg | Bxg | BEeg | 2xg | 2xg | 2xg | Bxg | B2eg | 23 | 2v | 258 | 258
# 50| 1E/8 5 1R 1R 1R 1R 1R 1R 1R 1R 1R 1R 1R 1R
H51|BE 1El/8 2 015K | 0.1k | 0k | o1k | 0.1k | 01k | 01k | 0.1k | 04KE | 01K | 0.1KE | 01K
ElIE 1E/8
5 2|&Y 1E/8
& 3 /:ﬂ%vnzaa,w 1E/8
BEE%R 0.1mg/ILLE 0.4 0.4 0.4 0.4 0.3 0.4 0.4 0.5 0.5 0.4 0.4 0.4




H24F E (SIERAK) 20 F 288 H R E S

HtE(E 48198 | 58178 | 68148 | 78198 | 88208 | 98208 | 108188 | 11A158 | 128138 | 18178 | 28148 | 38148
BS |eMRERE |RERE (me/L - T=@] 163 228 19.3 35.0 34.7 32.2 19.3 14.1 7.1 7.0 4.9 7.1
AT il Tea 17.2 17.6 21.0 224 20.9 18.7 15.1 10.5 6.7 10.3 13.3
2 1| —mEE 18/ 8 10018/ ml 0 1 0 0 2 1 0 0 0 1 0 0
# 2| KBE 1E/8 T T | Tl | FRE | Sl | Tl | FRE | Tl | Tl | FRE | Ted | Tl | TR
£ ot AR UEP im/em | oo0s 0.00035% %
=
# 4 ﬁfz&zj%oﬂt 1El/3A 0.0005 0.000055k %
=
# 52’%&1“%0)“: 1E/38 0.01 0,001k
=
# 6 fma&z}%o)ﬂ:e 1E/38 0.01 0,001k
# 7 E‘;@&U%Mt 1E/38 0.01 0,001k
=
# s,@ﬁﬁ’thg 1E/38 0.05 0,001k
# 93’?&?;3’& 1E/38 0.01 0,001k 0.0015k % 0.0015k % 0,001k
#10 g%ﬁ;ﬁﬁ;gu 1E/38 10 6.2 53 40 39
#1 2§&U%®4t 1E/38 0.8 0.055k %
=
#12 Tgizm%w 1E/38 1.0 0.008
=
H 13| migbikE 1[8/38 0.002 0.0001 K%
H1al14-orax4y [1E/3A 0.05 0.00055K %
e I
Hie|oyooxay  |[1E/3A 0.02 0.00015k %
H 17|7h59A01FLy  |1[E/3A 0.01 0.0001K 5%
#18 anulﬁ’ 1E/38 001 0.0002
H19|RU B 1[E1/38 0.01 0.0001 K%
H 20[IEHRE 1[E/38 0.6 0.06K i 0.06K i 0.06K i 0.06K 5
H 2|yooE 1E/38 0.02 0.001k % 0.001k % 0.001k % 0.001k %
£ 23|yooks [1E/3A 0.06 0.00015k % 0.00015k % 0.00015k % 0.00015k %
#24|osooEE  |[1E/3A8 0.04 0.001k % 0.001 0.001k % 0.001k %
# 25|v'7nesnosgy [1E/3A 0.1 0.0035 0.0035 0.0034 0.0041
H 26| RHKE 1[E/38 0.01 0.001% i# 0.001% i# 0.001% i# 0.001 5K 7%
£ 27l#ry /o 2% [1E/38 0.1 0.0082 0.0088 0.0091 0.011
£ 28|ryoooE® |1E/38 0.2 0.001k % 0.001k % 0.001k % 0.001k %
# 29]7'0Ey ynosgy [1E/3A 0.03 0.0008 0.0007 0.0007 0.0008
£ 30|7oEHRLL |1E/3A 0.09 0.0039 0.0046 0.0050 0.0059
# 31|k La7nrer  [1E/3A 0.08 0.001Ki# 0.001Ki# 0.001Ki# 0.001Ki#
#32 Efm”\&U%ME 1E/38 1.0 0,001k
=
#33 Z;L{T::Z;‘M&U% 18/3A 0.2 0.002
=
# 34 ?Z&u’%o)ﬂ:e 1E/38 03 0,015k 0,015k 0,015k 0,015k
#35 f;l&u’%o)ﬂ:e 1E/38 1.0 0.001 0.001 0.001 0.0015k %
# 36 EZ’Q&U%W 1E/38 200 77
=
# 37 }gi;m&u'%w 1E/38 0.05 0.0015k %
=
# 38liEim 4y 1E/8 200 6.8 7.1 7.1 6.9 6.8 6.7 6.7 6.9 6.7 6.6 6.8 5.7
HhYILRT R
# 39 L () 1E/38 300 110 110 110 100
H 40| RREBREY 1[8/38 500 177 213 188 181
e E]”’ﬁﬁ%ﬁ 1E/38 02 0025k
*
B ¥ V] D2 & o 3 ﬁzf 0.00001 0.0000013% %
1L
#43 fl:;:’;’i')fbj ® ﬁzf 0.00001 0000001 3%
BiEL
244 ;ﬁ”’ FREEE | 535 002 00055k
# 45|07z /—L 58 1[E/38 0.005 0.00055 %
# 46| kETOC)D |1E/A 3 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2
=)
£ 47|pHiE 18/ 8 58~86 7.9 8.0 7.9 8.0 7.9 7.9 7.8 7.8 7.8 7.8 7.8 7.9
H a8|mk 13/ ERcn | 2xg | 2xg | BEeg | 2xg | 2xe | 2xg | 2xe | B2eg | 23 | 2v | 258 | 258
EYTEES 13/ ERcn | 2xg | Bxg | BEeg | 2xg | 2xg | 2xg | Bxg | B2eg | 23 | 2v | 258 | 258
# 50| 1E/8 5 1R 1R 1R 1R 1R 1R 1R 1R 1R 1R 1R 1R
H51|BE 1El/8 2 015K | 0.1k | 0k | o1k | 0.1k | 01k | 01k | 0.1k | 04KE | 01K | 0.1KE | 01K
ElIE 1E/8
5 2|&Y 1E/8
& 3 /:ﬂ%vnzaa,w 1E/8
BEE%R 0.1mg/ILLE 0.4 0.3 0.3 0.3 0.4 0.2 0.3 0.3 0.3 0.4 0.4 0.3




H245 B (R RF/K) IRKIRESE

HAEfE 48148 | 58178 | 68148 | 78198 | 88208 | 98208 | 108188 | 11A158 | 128138 | 18178 | 28148 | 38148
BS [EMREAE [REHRE &"%;;— sm| 172 270 222 350 320 310 205 180 102 8.9 6.8 80
K| 139 16.0 16.9 21.0 24.2 22.9 20.0 15.7 12.0 11.1 11.0 125
2 1| —mEE 18/ 8 10018/ ml 0 0 0 1 0 0 0 0 0 2 0 0
H 2| KiBE 1[E/8 TR T | Tl | FRE | Sl | Tl | FRE | Tl | Tl | TRE | Tel | el | TR
# 3 ?g ;;;‘&U%w 1E/38 0.003 000035 %
H 4 gfz&zj%oﬂt 1E1/38 0.0005 0.000055 3%
# 52;’%&(}%@“: 1E/38 0.01 0,001k
=
# 6 fma&zj%o)ﬂ:e 1E/38 0.01 0.001
# 7 ﬁfzﬁ%m{t 1E/38 0.01 0,001k
=
# sgﬂﬁ’]DMtg 1E/38 0.05 0,001k
# 93’%‘5@3’& 1E/38 0.01 0,001k 0,001k 0,001k 0,001k
% 10 MRS R g/ 10 24 13 14 17
#1 Qimj%mt 1E/38 08 0.05
=
#12 ngzm%w 1E/38 1.0 0.011
H 13| migbikE 1[8/38 0.002 0.0001 K%
#14]14-OA XY [1E/38 0.05 0.0055 %
B [ detad W=V 0.04 0000153
Hie|orooxay  |[1E/3A 0.02 0.00015k %
& 17|7h59A01FLy  |1[E/3A 0.01 0.0001K 5%
#18 ;'”DDI*" 18/38 001 0000153
H19|Ro B 1[E1/38 0.01 0.0001 K%
H 20[IEHRE 1[E/38 0.6 0.06:K i 0.06K i 0.06:K i 0.06K 5%
£ 2|yooErm 1E/38 0.02 0.001k % 0.001k % 0.001k % 0.001k %
£ 23|yooks [1E/3A 0.06 0.0002 0.0003 0.0003 0.0001
#24|osooEE  |[1E/3A8 0.04 0.001k % 0.001k % 0.001k % 0.001k %
& 257 nesn0ry |1E/38 0.1 0.0009 0.0011 0.0009 0.0007
H 26| RHKE 1[E/38 0.01 0.001% i# 0.001% i# 0.001% i# 0.001 5K 7%
£ 27|#r oAy [1E/38 0.1 0.0020 0.0025 0.0022 0.0014
£ 28|ryoooE® |1E/3A8 0.2 0.001k % 0.001k % 0.001k % 0.001k %
# 29]7'0Eyynosgy [1@E/3A 0.03 0.0006 0.0007 0.0006 0.0004
£ 30|JoEHRLL |1E/3A 0.09 0.0003 0.0004 0.0004 0.0002
# 31|knLa7nrer  [1E/3A 0.08 0.001Ki# 0.002 0.001Ki# 0.001Ki#
#32 Eif;&u%mt 1E/38 1.0 0.004
=
#33 Z;L{T::g;‘fuz‘ 1E/38 0.2 0.001
# 34 :Z&u’%o)ﬂ:e 1E/38 03 0,015k 0,015k 0,015k 0,015k
#35 f;‘mj%m':g 1E/38 1.0 0.010 0.010 0.022 0.005
# 36 EQQ&U%G 1E/38 200 5.0
# 37 }gg;;m%w 1E/38 0.05 0,001k
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